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1ER4Y EHRIGERELHE

1EELY EHRFEREBF. [BFXER—X] THSHE20FE17.8EM, 215
E18. 218, 22 FEFE 16. 1 {EA LG TS, 21 FEICE TS 1 BFEHLY T
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1TRRA-YRBRESR
(B BHM)

X5 BEA—X

205 % 215E 225 %

e E (RME%E) | (RMERAEE) (GtE#E)
A = R 1,786 2,487 1,168
£ & R 2,089 2,095 2,798
K E B B & 5,402 2,157 3,904
HX-RENISA 84 111 114
B 5K # 3,720 2,499 1,845

& HET L &£OIBW X X X
# B & - # B 446 483 1,252
;E_Z HE # 818 905 734
- VAN F 3,304 4,095 2,048
* & A b2 X X X
R S -/ S 2,058 1,653 2,178
B O W% OB B 600 1,051 971
OB OB R 2,528 2,766 2,312
zToM B B & 926 609 994
T 1y 1,836 1,893 1,625
4t B I3 E 3 1,013 774 1,334
O 1,779 1,815 1,605
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